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1) I am entitled _a share of the profit.The correct preposition is -

v 1)to
2) from
3) into
4) for

74T : | am entitled to a share of the profit. Entitle to - WK 271d KT |

2) BT TP TG YH \3 O AT JATFCH 8 \3 DY A, IJ FHT FATIIMD! 35?

AT 2 FYRTRT = v (OF*0 A17)
=V8"Y

=8

=b

3) "M AMREO 2 PO HNET?

1) 5503
2) Yaxb
v 3)>»019

4)>90»

I : AT BT \3 SHICOI AT I fAeTd 5o | YHoa S I[AAM XA ([@NER IS5
QA 97 A TRER I |

4) The antonym for ‘ inimical’ -

vl
2
3
4

friendly
angry
indifferent
Hostile

S— N N N



I = inimical =
Hostile=8fr7?{o
Friendly=3gg

5) 1 T AT (P BTe] PRA--

1) ke &1a
2) PRI id
) BfeRITst <2
)

AU

wW

v

N

AT : Seey AR 03 JIE M v BERCo AL 51 SI1TdT OF 27 | O A3 51T 21z PRI
I 2 ARRIEA RIS AR T (€3 TGH, DY) (U | A I3 A T e BHer
S, 2t "B T AT IF AT RS 2 | TRPAET STIIPTE (A3 AT (PN BRI SF
27|

6) A person who treats mental illness is called-

1) a psychologist
2) a psychoanalyst

v 3) a psychiatrist
4) a therapist

AT : A person who treats mental iliness is called a psychiatrist. On the other
hand, a psychologist focuses on providing psychotherapy (talk therapy) to
help patients.

7) QBT ARTORPI MM 4§ U] AR RoABT 03 AT 28 f0R, 15|01 Crawet o ?

@8.021333151333(’%&5?1:0><(\’)><O)=



8) FMABTR (UP POBHIR O WM 2Td oY @ 5 37 20?-

v 1) VR0
) TG
3) 3TRTH
4) -3

AN = ITRCAD T BT 2 ST [T TG KPS @G \3AMRPL T, TN FR-IEL S IS

AP ST FERBTR @H\3T TFTE | At TATNYRR Gy BYF AL QT W3 1
BBRCAD 2ACHTRE JAICHR QP AT IR T SIGT SMT- 2T P |

AT 2 I AR PTG - TR | A T LDL A1 @IACHI AR e (yoo -
200 mg/dl) O QTR QP 20T IR TG KHAT 5110 1 ATHIH @PIEACHIS \3 DI el T
TF AR A SRPHO 2| O AT BRGFRF0T1 0 T \3 *X1F 2 | Q TREFD
orterioscleosis 1 AR P13y |

10) R4 \SUITRE Jarsa GIUR SREO?

1) TP
v 2) @S
3) eT%d
4) JTiGeE

AT = & A0 @A ST & X7 (AP R AR 7@ Q9372 @EATSRICER IrswTal
IS (AP S¢ FPCEATITR 7T TRIBO |

11) He waited until the plane-

1
v 2
3
4

did not take off
took off

had taken off
had not taken off

~— N S S

AN = QATE until )1 70 clause TF X2 IR principal clause b past indefinite
tense - 3| WO TGN subordinate clause 0\3 past tense - 1 2831 A1FAN |



12) TS TGN IR ¥R TG Y ©I5T TI5T P AL ?

1) 8 ©I51
2) b GICsT
3) © SISt
v 4) ¢ SISt

AT : T ATE I B TGS 1T O XRACP ¢ ©ICsT Sl FAT AT, | AT - O, TS -
TR, B8, (P \3 ROe | 5199 W 13 ©ICsT OIS -1 TACZ | AT . Qe 3 o | o0
G Fod BT ©T5T BT 2R | IAT ;. QI9Rp, [l \3 QISIAD |

NN : YFERAR (- . THAIIGET), IRFACTR AR (ST SRS afb aBfh Mo
B |

14) fA63 @A QT AT IAET?

v

N

o

) ™

) et
3) Tz

) BT

TN 2 58 TR AT | DR AT Y 5 BHMICaR SRS 70 RMaTd 306002 | A8 540 e
YT I 2|

15) | decided to go _ with my friend as | needed some exercise.

1
2
v 3
4

walk

To a walk
for a walk
for walking

~— N N N

T ; 27000 IS oY 'go for a walk' phrase 0 3Rz 2|

16) §2d (9T IR CTY FEIL I 9 S PG BT Ao PRRET?

v 1)V



2) YDYY
3) d»q0
4) Y Yt

T 2 O CTFIT Spun @HITH T WATEG UF T AT GCITEANT G135y fofor
(OTPITS RER 1 FFEIA AP PRY' SRS BNs IR

17) Jerry was deprived of motherly affection.Here the word ‘motherly’is-

1
2
v 3
4

a noun
an adverb
an adjective
none

)
)
)
)

AT : ARG 7 noun word ( father, mother, time, friend. ) T ICR T ly
Y& A adjective form X |

T : TS XTI TRFT G (AP (T o1 ARG 20T 1 SR S[R30 T G <D
B X A | T - 5% , 5, 74, O, €, o, T, T3F, 512, I 300 |

19) "I 25K IR A IK17-A97 QP PAR AP

TN : I SO o4 IR T TN - 2| ARG SR 2 Sl - Ig5NST |

20) "1 TNH B8 \3 KPP 51034 I5ROR ara-



TN ;A SRR TEI \3 RIPT 1037 I5OR a1 - T SJANGPHR SCEIATTR | AT O
B84 \3 RPP 5131 299 a1F ‘The Origin and Development of the Bengal Language
'(SRRY) | I TRK B AR \3 FHARPHT 57T Q SI37 50T . STAMGPHIR BCEII |

21) The antonym of ‘Honorary’ is-

1) Literary
2) Honorable

v 3) Salaried
4) Official

M4 : The antonym of Honorary ( unpaid, unsalaried ) is salaried. And the
other words are synonyms.

22) BERG =T @ TR (WP QT Z?

AT 2 BLRG <THT FRGf5TG OIFT (AP (T’ TAZ |
BREfG XA GRS = (W AGTZ | AT PRI AGHIS ¥R - WA, WA, 511, e,
T, QTHT, QTOTS, W, [T, OTa1<p, I57 |

23) I don’t think you will have any difficulty _a driving license

v 1) in getting
2) get

3) to get

4) for getting

14w : 'Difficulty in something' SR X @11 Pgro 5Tas1 |

24) J1ET HI20DY FQAXToRT FRIOT I1 A AP (?

AN = SALCP A1 AT T FQOTA FIRIOT | AR 1T ATHIL MRS JR JY5Fd 6



25) 1T 51 GAP I 2 IICP?
v 1) 535@ Rersis|
2) IFIEH GBI
3) “Wip i fva
4) IAGY ST

AT = BP0 I @RI \3 RASTim 57953 RMTISIKGE 18T 510K O 11 2| fofad
2T 18 510 AT oz eicrst Tioa 1T sTAIRere BeITHT UF BB ARAER Baro
IEA|

26) A[ACH PP o 6 IT?

N —

AN
v 3) KK

wW

)
)
)
) Afd

N

AT 1 FIACN L TN AT I | F& I TLF e oGP I T |

27) d1 (comma) I 18T 5?2

QAT : T IR AT ATC0RR | IRPY AT DI P01 A1 W0 o1 (RIRIK Sy Q10Tcd 351 R
LACITSE, T FHT AT AT IS 2 | (THA - A 51N, T 9T A€ |

28) foraaiar Qi @ areRIfze @512

v 1) ToPRIS
2) fTfeRTZG
3) IGIRS
4) IS

T : TP T PG GRS T RF G 93T @157 4 Q0K 312 AfGsT GG (
Aedes Aegypti) ATET TP | T AT TRPT 2105 - IfeR 21T | Y1 Brasiaa o a1ze
QST



29) (V3) Xt = (3v3) 21 xe, x=?

N

v

W
> U1 o W

)
)
)
)

I

Wz (V3) XL = (3v3) 21
or, 3 (x+1)/2 = 3(2x-1)/3
or, (x+1)/2=(2x-1)/3
or, 3Xx+3=4x-2
or, x=5

=

30) " G AP X J P1AD?

—

v

w

)
)
)
) P

N

MY : AET AP XS : A, R, TOPMA, AR, (P, WS, 72, TGP ,
PR, AP, 11 2fahs | s - Aifes, oret, 3eges | [aq , el (o, ioam) |

31)(17)9%x =7

1) 17x
v 2) X

3) 17

4) 1

I : Here,
(17)°=1
so, (17)%%=x

32) "oraK g7 5K QR F1?

1) T IO
2) T TRIR
3) T ATRY

v 4) W P-AOH

YT : TR Y (AW PLCR ) — O R \3T 4RI 5K Teld PACE |



33) Wl I “P” 0 Md ¥R “Y” Y TAd PACO 2R | T \3 Y I PTAID PO M PACO AR?

AT = T \3 Y AT PTG PACO AT = 0 x Y /0 + b e
= Sb/» e
=3 @

34) ORHTEd [k g7 @d @1 GIRRE?

AT : ORIEG R DY 92 GRE A ara RO Gk X237 TR f&rad | 5d O a2
CRA (g BeTd G131 PAMGK W Ol |

35) 2054 3T ICC Champion TR PI Tigfio 2

N

NS

AV

v

w

)
)
)
)

]

AT : 2059 AR 5T T wdhcar oseiios s aftatsreariion | */faiie
STERISTHT (TGP 3G IR ST 205 STER S (AP db T TGRS |

36) Identify the correct sentence.

1) She had faith and hopes for the future.
2) She had faith in and hopes in the future.
v 3) She had faith in and hopes for the future.
4) She had faith in and hopes in future.

A - Appropriate Prepositions:
faith in = @A g ofS ey arn
hope for = @l g faca @ At



37) tan® = V3 X, cosO = ?

1, TR/SI=v3/1

9, ARTGS=V (V312+1)
=V4

=2
50,C0S0 =M/ AfogS
=1/2

38) Panic seized me. The passive form will be -

1) | was scized by panic

v 2) | was seized with panic
3) | was seized into panic
4) | was scized from panic

4 2 | was seized with panic.

Seize ( G% 1 (PO I<T) verb & active IPKP passive K A sub.( object U<
subjective form) + was seized + with (seize A3 C¥ca passive IS by I ARICH
with 1) +obj. ( subject 1< objective form) |

39) Identify the correct sentence:

v 1)
She had faith in and hopes for the future

2)
She had faith and hopes in future

3)
She had faith and hopes for the future

4)
She had faith and hopes in the future.



JMAT : Sentence - VO preposition - I3 IRTR3 T factor | Faith W32 hope - Q5
noun J3Cd in WK for preposition 2 IR0 e WY I3 d11 IKL faith in WL AT
@ICa1 [PRCs eI F141 | WM hope for A3 TR - @ICAT RECT WP 2P T | STO1R

(@) -3 5P|

40) A person whose ‘head’ is in the ‘clouds’ is-

1
v 2
3
4

) Proud

) a day dreamer

) @ noun

) none

AT : (have ones) head in the clouds - WX Mard RCeR 1 TSIG FFAR T4 | WK

a day dreamer T X MArPFmBTAY Q3R Wfb TRBIOEIR phrase 53 sy @R e | o !
-3 5P

ANTMa+b+c=59Ra2+b2+c2=9, %R ab + bc + ca =?

v138
2) 34
3) 12
4) 16

MY 2 AT S, (@a+b+c)2=a~2+b~2+c”~2+2(ab+bc+ca)
or,(5)"2=94+2 (ab+bc+ca)

or, 25-9=2 (ab+bc+ca)

or, ab+bc+ca= (16/2)

> ab+bc+ca=8

42) XToP1 ISP PO OIPT IR FARPTT WEo TP \3 Y IR FATPT 90 TIPT A ?

I = ST JARPIK CHCa
r=1x>%0/Pn %
=99 X Y00/ YRO X Y %
=9



43) The correct translation of * 73([ ARSI F¢L’ is-

1) Sweet uses of adversity
2) Sweet do not use of adversity
3) Sweet is the uses of adversity
v 4) Sweet are the uses of adversity

AT : {30 ACATSATOT Y | U7 S35 3ART T Sweet are the uses of adversity.
@14 I3 I adjectiv( sweet) T ©F = O verb W< 2KIST noun 1 pronoun ( the
uses) ORI verb singular T plural 201 WK adjective A3 & verb Q|

44) DT ST IO 7

AT : IS IR SOACT AP0 ARG SFFT T | Y0 HER SY3 WEFRKA TR0
OISR TG PTECAR T ST IS T |

45) 151 TR 1R TRBG ?
o]
il

1)
) ATPeRT
)
)

N

3) QuAd

v 4) TSI

N

T ; 2D AT TR AT STod <X GRS TR0 |

46) "Cist” R 3T SRR @1t ?

1) 1R8+Q15T
v 2) 18+Q151
3) 58+
4) 1<+

AT & /AT’ BIGT T AR - * 38" AR QIR ORI, A, 051 TOI, T, 1<
®@id P Y, 7, &, I A 2 AP 08" - T QRS ‘T’ 2| (T4 -
fA3 + RPN = faPR (2 + ©3 + )
3 + CITST = s (B + 38 + )
f1g + R = fARTPAT (2 + <28 + M)




8+ (CI© = liCc_“ﬁ_(@+ 38 + )

A3 + ©d = ﬁ'\‘vﬁ3+ 38+ 9)

¢+ 08 = ‘R@(@+ ¢+ )

WIS + I = WPIRT (3] + 8 + )
3 + O = AMGK (T + 3 + O)

(SUT98 + JY = (%Tﬂr_m3+ 38+ 9)

IR + 510 = ﬁﬁﬁ;3+ 38 +9)

47) AT SCO] ST #[ZTH @TA0?

v 1) I QPO SKZ R
2) FIs QT #/E R
)
)

3) QT P
4) FTo! I /IR

I : J1RET ST TRATF IR AP 2R GO T S[IF R ' A1 AP 27K |
Y9WYOo I 2ARGG 1 *RFTRA ARSTOS 1 27 > A1 BIRPT U3 I1REAT AFTCG IR FAISTS FIfeTo
Q30 @0 \3 FIEAI91T |

AT : PR A = AP |
@ ST IS 2 2% BIY T AP (AP AT AT I , O TSR T I |
@ - T fd = 2fSTa, TR TR = THAPD, G TP = SHNGEAT, FAR ST = SoPAT|

49) XIAF > XK - XHTVC0 K ARG @1 G TR 2Ty ?

) Rgfre<d
) AN
3) Widfkora
4) ARSI

v 1

N

T 2 GOOT ST AP0 RGP RIFredd 31| @8d - XK > XA, 1T > Jie] 3oj |

50) Y 1T ©ONIK FIPLT (@ (YT ?

1) SARSPHR BCOIATLTT



2) FCAIIS TT WHTN3
v 3) AIface i e
4) TSR A1

AT 2 AU 7L IR DA (I AT JTT TTENDG | AT AT AU 575 5T
PR FEIAS T TN | ' (SIPREATRNG T 3MITT @ASTAT 3 *fGhsre , oo g s
TSN ' JICH 580 S FGER feT-d (WP 730 APTRG = | IPAT 53 - A Grammar of
the Bengali Language ' - 583 50T A ATface 131 JeNs |

51) IR STAD T A< BI ORB0?

1) &R

N

) (©
) AR
3) ’ﬁqﬂf—
v 4) IR
AT 1 IPRG CT FORR 2T TRAPR (SR G516 TR FN55NIG 36 fokicaq G ioofmoT

SYICH USRI | TG (SIS (ST SR 75 - #IX50a SYERo aRl | WK AR5TK diik Bk
(T RO BBemer s | SERod wsveas XM ahik QB0 IR a7l

52) FrafD 2500 2o ATER IR 9

v 1) The baby came to me laughing
2) The baby came to me in laughing
3) The baby came to me to laughing
4) The baby came to me by laughing

I 2 Q5O 5O, IO IEC0 TP K20 XA verb U< present participle <29 |

W3R JR #f(d PIET preposition <%0 2 d11 The baby came to me laughing Iy
P |

4 : Ans: 0.0001 ( By Calculating )

54) 1T SR 5 F RO Sofstsf A 2
v 1) 20f0



2) >0
3) 0f®
4) 3

AT : QTSR G155 FRFO GRT (W IR SR IRTO A2, G G951 IeTT 2 ORI T
FRFO G| FFO S AL 20 T | JU—, Tel, O, THT, A, WG, W, AR, 3,
©d, 3%, 3, {4, s, |, o1, a9, 7, 57, 33, 71

55) "I TINSATS, 23T IR 5 4R I51?

AT+ TR XTHA 38 (SDVE - 05Y) AW ' AR TIIITS 23T IR ' 51370 QIO PRI | 9
PRIADIT Y9y S APTFRG 2T | GZNGT ' SITARD' (Y9AY), FPANCEH HKT TR (YDbR), QAT
9¥d (Yabt), 5, T& U9 Ja' O DS ATy PRI |

56) No article is used/needed before

1
v 2
3
4

an adverb

a pronoun

a noun

an adjective

S~— N N N

JMT : RIS material noun 93 9  article I3 @11 O K ¥ @ AT article
N& N

57) BARD 3 afo9Tol 5?

T : 16 (BARD) - 3 S T@Rsae Bangladesh Academy for Rural Development
| 5% ST FRIER @ITATNGO AUITO TGP WO T AT ARES SAmiest 4 Ao
B dEA|

58) She argued ---- me about the marriage.

v 1) with



2) from
3) for
4) to

T : I BRFL S L& 2 argue-ad Y with I

59) X + 1/x = 5 X, x/(X 2 + x + 1) 93 914 PO

AT : X + 1/x = 5 X,
Now,

x/(x 2 + x + 1)

or,1/ x/(x 2 + x + 1)
or, (x 2 4+ x + 1)/x

or, Xx+1/x+1

or,5+1

=6

Ans: 1/6

60) "R X APRO \3 AOR 3 1B ?

AT 2 XA - 2FOR QST ST *17 RSATHI | P 2ACR S X7 RI2ATEIT IF A3 24P - 2om
, V R + 145 = AT | QR - V 55 + *MMd6 = 5eTa1d, v 4 + a6 = I6HE|

61) ABC SR [Igor acoie IR ¢l x T, Tae@ivd Crawe] 397

1) V3/4 x 3 35(a33
v 2) V3/4 x 2 35193

3) x 3 3P

4) 4/V3 x 2 3519



AT : SRR f o) 127 il X Q3P X, CFapd =v3/4 X 2
AR fage

60°

60° 60°
i
AF 93k (PhoT 3
Schlafli symbol {3}
eIy Wl Da
CHawd l_’iuz

WoIBa1T (BT (degrees) 60°

62) The second World War broke _in September, 1939.
1) in
v 2) out
3) through
4) away

AT : The second World War broke out in September 1939. Break out - 2T{OR
20337 1 ZRBCT 21T | 50 SER GBI FC HORT ez 2 =1 |

63) He will come in no time. Here the idiom 'in no time' means.

1) not ever

2) never in future
v 3) very soon

4) not in future

14 If something happens in no time or in next to no time, it happens
almost immediately or very quickly.

64) >»¢8 TR fRI6E TEPCHI I 71 ZeT?

1)5 o
vy



3)u o
4)v

T 2 2 TSI ARG fRI5d TGO 2T Y58 T S0 JTb | S AR5 FEWCHA faivar
AR ARBTTE 2 2D 7oK FofGra | 2> 71 ARk AT 7o &6 - IR NPBIER Tarod
PO FPio 714 |

65) T Rd I 7@ FARY- QU@ “THd RXd” @ IRE@ @1 [ofe?

AT : TP IR QR @ WGP FIRP I | WA @ FIed 9K & Rgwfo ey 3@ favan svor
2%, &1 R, ST 1 TP I 20 WP PRSP | QIHA - WP 57 BTom |

-

66) [ITGR ITHCG @19 TG YP?

AT : 1Tl A1 CATAIRR PIECS WIHICR (R I TP SIS 1 RAafie afsie (HCOOH)
ngXTWI A0 RPIBI((‘H T PIAOICAT B ATIT G AJ o< ﬁl

67) @EACH log ga = 17

l)a=1
v2)a>0a=1l

3)a>0

4)a=#=0,a>2
I - when,

a>0,a=1
then, loga®=1

68) “OICK T~ I W 5?2



v 4) T

T : OICR T QPTD TSR | 278 ISR Ol - FERN | (T < T IFF FCL ST
TRICO3 BICH TR TS (S0 AR

69) T fw) SR THIRdaT?

AT 2 T STHCH NI MG TA0) ST I7 AP, AR 7P 37 T, I ooy ST
JC7 | Fd - Ad5 AT = ATAIBS |

70) 5i0 SATH AS.G 588 IR SIS O 1P HUT 8b T WoRID 0?2

v 1) oY
2) 28
3) %2
4) b

AT : T FRAMD = SRATAOA (. 5. S x 51, 1. )+ Q0 5N
= (388x HR) +8br
=0Y

71) 5¢ T T AP FTS CT IR OTTR (¢ T TP P ITS I AT T PAR ?

AN = 5¢ T IS O IR © IO
> T IS R IR (5¢x0) IO
IR ¢ T O/ FR (DEx0)+ &
= > U0

72) ©IA1 R SRS @I ?

1)H, 0
2) NH 4
3)H, S04



/4)D20

AT 2 SR AR TG H 5 O UIR QT T SR ANfAR WS 70 JABISE A \3
OB ARSI 2RAY AP | TSP, BRI AT IHRTAP @O D 5 O | THY AT 9F TS
75 FOOC AT #Ia1] 3 aF o AfAcSd 1 AT |

73) "qIRQ . AaPR e @ Bretd?

1) <TE5 I

2) X\3TW 35T

3) Jat I3

v 4) IS TSP IS

AT : YD ATTIR FoNNP BT FTS T 37T | (APD PTG TGRFE BT Sors
03 -T2 a1, @D Y0 IR W XRJ@ (DI FCEH O TBFL) AYT APTG |
TGO TROTE FRFIT YD FER TMB T APTRG AR |

74) My uncle arrived while | ----- the dinner.

1) would cook
2) had cooked
v 3) was cooking
)

4) cook

Y0 = Past Infinite Tense + while + Past Continuous Tense

75) "fFIRITE \3 #RFY” AMPIACR @1 T ACAIDS 2 2

T : 3 [T QDPTIP RITAR AT AT T (O 2, XA SR I 2 A | N 510
I T | GR T} OGP ASG I 2 | TP T \3 2T a0y I R T 1T \3 259
AAG WD |

76) Which is the correct sentence?

v 1) | shall avail myself of the opportunity
2) | shall avail for the opportunity
3) | shall avail the opportunity
4) | shall avail of the opportunity



AT : Avail oneself of the opportunity TIPS SISICAT T ( SFIACSN) ALK BT

77) Which is the correct sentence?

1) Each boy and each girl are having a pen
v 2) Each boy and each girl has a pen

3) Each boy and each girl have a pen

4) Each boy and each girl were having a pen

MY : And TRT T 710 noun W #fd each ¥R verb singular |

78) x=1+V3XA,x3=7

1) 5+ 6V3
v 2)10 + 6V3

3)4 +3V3

4) 10 + 9V3

I : (a+b3=a3+b3+3ab(a+b)
Now,

(1 +v3)3=1+(v3)3+3.1.V3(1+V3)
=1+4+3v3+3V3(1+V3)
=1+3V3+3V3+3*3

=10+6V3

79) MR S ([REPRP FaT ASAPT CFa GPIAID ?

1) BT

2) Ao "esy
v 3) TR T
) <G

N

I 2 JTECT QPPN TGP ([RETP ThT WSAPT! UG AT (O (PP AT | T
(PTIRP AYTTACS IGFNE RCY IR TRETE IO | 200U - HQ TREEE A ATS (AP IR
R I S8, VY fAfcTId F1fFd B[, T &6 I W 85.¢8% |

80) IR H9YfJ A6 @1 W HRo27?
1) FISABIRT
v 2) 3%t
3) ISR
) prea

N



AT : FAoR BT IRRO Jd9[ 1 SANROCR QB JoF ,T1 -1 GeT ARSI A0 |

81) QD IT T IR 8% Fioro Ry 31 el RIS QI FAFER WIS PO ?

AN : 4, T Yoo TIpl
28% R RFTFT = (500 - 28) = AV T
SFOAT1L, REPTETT PTFT = 40800 = D3¢ |

82) UL IR 2T I s 5 1. . | F9510< Cvawet 0 357 &1, 7.2

1
2
v 3
4

4
6
24

8
0
12

)
)
)
)
A : TR CFAT =(Sf x THOT) I 9P |

AOD 131 ST oS

Ao AD = 5 G ;A0 = 3 G a3k OD = 4 Gif|
AC=2x3=6GTIIBD =2 x 4 =8 G
IRCR (Fa0 = 1/2 x AC X BD

=1/2 x 6 x 8 IsIA
= 24 IS |

83) 13D DIITEICaR BT 8 (1.7 3% STAISATE AT Ol IATFCH 9 G, 7. 13k 7 G, ™.
A T CHFa0e IO 357 31, .2

1
2
v 3
4

24
100
4

)
)
) 6

) 96

AT ; TSGR CHATA = d/2 X SIS IRATL 5P X SIS I FLO! 749
=R X (®+9) Xb =v8

84) \3CTAZI SFCIK Gy 7RI (PTG 2

1) CO,
v 2) CFC



3) SO ,
4) CO

AT 2 Db A TEHACE RGIA! ST T SIRIN IR @A @ 3T 3 RS T T |
WK (6T 02 @R 178 QI WZ k0" TR SRR 1R | Q3 @R \3 Q1fEd A
@RI STTHSATS, ASEATD FLTHCA I 3 HawiH|

85) 91T \3 7@ TG 51T 80 IZJ IR HTOT \3 P 9(AF IGW 5T V¢ I2J [HTOK ITH €0 A
RO I PO ?

T : FoR0T \3 9t (AIG I = (80 xR) = bro IBJ
HIOT \3 (A (HI6 IT = (0€xR) = 90 I2H |

Qd, 9Cad A = (A0 - ¢0) =0 I=2J

SOA1R fHOIR IT57 = (b0 - R0) = Yo I8

86) IWH ING QR @TAD?

1) "PyoRmt
v 2) SO
3) A5t
) 7R

AT : ALCH IO - BB (@ QR | IR AT Sqof 'ALE' A "1l o «155eq s 3
HIFT, 2 FACORT, TRHCT 2T QI BBH PHREA|

N

87) Choose the appropriate meaning of the idiom "Swan song".

1
2
v 3
4

carly work
first work
last work
middle work

N— N N N

YT : Someone's swan song is the last time that they do something for which
they are famous

88) 7251 TRLHZED (T (ST WO (2e1?
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v 2) FATAIRRIG
3) SIS
4) et

AT : 75T DG LA ST (SR ATHSTH SATEAR AP0 28 (e \3
IR Ao 328 TREHZE, TN OROL F61 G J4Y ORE | ] fod M ©Reed P6RER
(@, AP [oBT JFl, TR \3THS SRR ©US |

89) What kind of verb is the word 'went’ in the sentence: "The dog went
mad"?

vl
2
3
4

Copulative verb
Factitive verb
Transitive verb
Causative verb

~— N N N

14T : Transitive verb - & verb Q351 sentence I W 5754 PO AT d | WY 5794
PICO A (ICAT word - U SRS FRT PICO R | OICP Transitive verb 11 @34 = | drink
tea The boy eats rice. Causative verb - @ verb 13 subject facs s®TR IS 91 3
WORE T PTS 57°9f7 I, BIP causative verb I @84 - | fly a kite, Dip (9 21y
AN, Drench (Rea), Fell (9915w 1), Inform, Remind, Raise ($31T), Set
(B191d 4T), suckle (345 2ATd PN, Lay (CTRITET, CTRIIK (PeT) A2 causative verbi
Copulative verb - @ intransitive verb @fsiie word - A3 S2RT 2101 sentence O W
ST FIACO MK a1, O copulative verb I @4 - You look happy.

90) BRSSO ) TG FoP 7T @TT0?

1) SeTeT AT
v 2) s kg
3) WELTSIATED JPA
4) o1 7R

M : SR SO Gy SRG 0P IXF AT ST I7 | SITHT IRFK @ THH0T, Ol (OS5
3P TeTeT \3 [I0T 9P (60 ST Q@1 STTET IRT 2T PP GIFBIAbIR 218 [IsT (o A0S AT |
WAGTOITIED ARKRISA IPT 53 (WE W, T (TR I (WP I oA |

91) If | had known you were coming-

1) | would go to the station

2) | had gone to the station

3) | would be going to the station
v 4) | would have gone to the station



M : Conditional sentence - 3 TSR If + past perfect + would have /
could have /might have 2 | @@ main clause - 9 past perfect tense Z7 o3
subordinate clause - 9 would have JKRI{ PO A |

92) (@19 I J=?

v 1) I
2) IR
3) TRl
4) AT

I = AT WA SR G AR Q% A2 LT - GFO R, 7iEoT 1 719, J97

93) U ATOT VY TIPTY R PACE T Ho 2T a3 TR NPy I ©K Sd #e 27, ATo1ivd
AT 397

T : 4i,

36 TR [RfeF T3 Bf6 x T1T |
72 BT RifE P &1e 2% T1T |
TOTIANA,

36 + x=72-2Xx

A, x+2x =72 - 36

1, 3x = 36
a1, x = 36/3
A, x =12

OII] ATOTOA 3 Ty = 36 + 12 = 48 DI
BBA : ATOT0A T T = 48 T |

94) PV TSR HRID @R WIATO S 2 X 0 A JAGH @R AT F9?

1) 225°
2) 100°
3) 115°
v 4) 135°

AT : FOSCSH BTH (BICT TR = VYo
WIS SR AT =D ++2+9 =b



ACOIP (PR AR = Vwo+b = 8¢

95) 80 AW Y00 U FIRG! J2TH \3 FHOH HIfERP UK TG F5?

v 1)us
2) VO
3) a0
4) @

AT 2 80 \3 Y00 IF FYITO! FAOH \3 J2TH (AP AT JATPCH 85 \3 4| AT 5T = (8 +
) /2 = Y

96) QL 0T AN W G1.IA. & W7 1T Fo?

T - Q1T §009,

o7 AIRM . CeI A =1
1, 30 KM= *q0ed AT
=V (A

MY : P 1 PR (FAT A0 : py6; WP @G : RUB) (FT : py61b F&) 3T AR FAT |

98) The singular form of criteria' is

v 1) criterion
2) criterius
3) criterii
4) criterium

4 : Criteria are plural and Criterion is singular.



99)6@17«'3@@%’?
1)4

)21%
3)6
4)3T

v 2

AT 2 IBK S, 28 \3 BT ACORILCP P I FIAT IC | SR A (@1 Faaiae pramd
WP G AT FR0e] A0 | WO S \3 278 QIR i3 Oel fRaTiae orlie wew war 375 |

100) mother rose in her.

[

N
N— N N N

A
An
The

No article

v 3
4

M ; g 5% Noun Oz TR 7" the ' IR0 X abstract noun - U3 W &4PH I |
@84 - The mother rose in her' Tt TR §KT TOF (FTONTS HRIT - FEFOT) (GCsT BT | !
Control the beast in you ' 397}

101) a 2- ¢ 2 -2ab + b 2 U7 53 ST @TATL?

1
2
3

a-b-c)a+b-c¢)
a+b+c)a-b+c)
a+b+c)a-b-c)

) (
) (
) (
J(@-b-c)a-b+ )

v

I

AT = (O3 A2,
a?-c2-2ab+b?

or, a2-2ab+b2-c?
or,(a-b)?-

or, (a-b+c)(a-b-c)
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